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Explain the meaning: 	SMOG = ………………. + ………………..
Trees absorb ………………………			They release ………………………
How do people produce  smog?
·  ……………………………………
·  ……………………………………
·  ……………………………………
·  ……………………………………
·  ……………………………………
·  ……………………………………
How do people suffer because of air pollution?
Air pollution causes ……………………………:
· ……………………………………
·  ……………………………………
·  ……………………………………
·  ……………………………………
Air pollution also affects: ……………………………………………………………………………….
What can we do to reduce air pollution?
· ……………………………………
·  ……………………………………
·  ……………………………………
·  ……………………………………

